Multiplication et Division par 10* (B)

Trouvez chaque produit ou quotient.

5,46 x 10 = 3,7893 =+ 10! =
3,4 x 10 = 9,28 + 10 =
9,6 - 101 = 2,4 +10'=
9,6 -~10 = 2 +10! =
8,9622 x 10! = 4,27 x 10* =
7,284 + 10 = 7,3413 - 10 =
3,289 + 10! = 1,03 x 10t =
3,2 % 10" = 6,1 x 10 =
8,1322 + 10t = 8,72 x 10 =
7,4801 - 10! = 210! =
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Multiplication et Division par 10" (B) Solutions

Trouvez chaque produit ou quotient.

5,46 X 10' = 54,6

3,4x10'=34

9,6 ~10'=0,96

9,6 ~10'=0,96

8,9622 x 10* = 89,622

7,284 + 10" = 0,7284

3,289 + 10' = 0,3289

3,2 % 10" =32

8,1322 + 10* = 0,81322

7,4801 + 10 = 0,74801

3,7893 + 10* = 0,37893

9,28 + 10 =0,928

2,4 +10'=0,24

2+10'=0,2

4,27 x 10* = 42,7

7,3413 + 10" = 0,73413

1,03 x 10* = 10,3

6,1 x 10' =61

8,72 x 10' = 87,2

2+10'=0,2
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